TAURANGA GIRLS COLLEGE

Name: _________________
[image: image1.wmf]

4





5



 

=

 



 





20



YEAR 9 HOMEWORK SHEET





Series B
Sheet 3

Due Date: ________

TGC Values: Respect, Participation, Pride


[image: image2.png]4cm





KEY SKILLS:

1. Use the After School Activities Graph to answer True or False
a) 8 students went to the After School club.   
b) 3 students went to a lesson.
c)
Sport practise was the second most popular after school activity
2. In the number 61.34 what digit is in the tenths column? ______
3. Round 4.79 to the nearest tenth
_​​___​​​​​​__________

4. Insert < or > to make it a true statement:
5.16  ​​​____  5.19
5. Write 7 x 7 x 7 x 7 using powers 

________________
6. List all the multiples of 6 which are less than 40

__________________ 

7. Calculate   (12 – 7)2
__________________ 
8. 7½ cm  = ______ mm
9. Complete this equivalent fraction:      
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10. What is the perimeter of this regular hexagon?


______cm
11. The total number of goals scored in 10 soccer games  was recorded:   
0, 1, 1, 2, 2, 3, 3, 3, 4, 5
What was the mode number of     goals scored in the
 
ten games? 
     _______

Key Skills Total: _____  / 13

CURRENT WORK:

1. True or false? 
a)  -55 < -80

b)  –5½  > –9½

c)  –2.7 < –4.3

2. Put these integers in order from biggest to smallest

–21, 3, 0, –5, 18
3. What are the values of the points marked on the number line below?
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A = ________
B = _________
4. Complete these calculations:

a)  –5 + 7 = 
b)  –11 +  7 =




c)  –6 – 7 = 
d)  5 – 12 = 


e) 11 +  –6 = 
f)  –6 + –4
g)  4 x –6  =
h)  –6 x –4 =  
i)  –15  ÷  3 = 
j)  –15  ÷  –5 = 

5. Use the correct order of operations (BEDMAS) to complete these calculations.  Show steps of working (some are done for you)


a)  –5 + 7 x 3  =  –5 + ……
b)  (–1 +  7) x 5  =  ……..  x 5 




= ………….
= 

c)  –6 – 7 x 2  = –6 – ………
d)  5 – 2 x 5 =


= 
=

e) ( –7)2 = ………  x ……….
f)  (–6 + –4) x –5 = 


=
= 
Current Work Total: ______ / 22
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These questions use the Problem Solving Skill Guess and Check
1. What two numbers have a difference of 5 and a product of 36?

Working: 
Guess#1

Try 11 and 6

Difference: 11 – 6 = ……………

Product: 11 x 6 = ………….



11 and 6 is / is not the answer. 

Guess#2

Try 10 and 5 

Difference: 10 - ………. = ……………

Product: 10 x …………. = …………….

10 and 5 is / is not the answer.
Guess#3

Try 9 and …………

Difference: 9 - ………. = …………

Product: 9 x ………… = ………….

9 and …. is / is not the answer.
Answer:  The two numbers that have a difference of 5 and a product of 36 are ………. and  ………..

2. What two numbers sum to -3 and have a product of -28? (Hint: one of the numbers is negative)

Working: 
Guess#1

Try -5 and 2

Sum: -5 + 2 = ……………

Product: -5 x 2 = ………….



-5 and 2 is / is not the answer. 

Guess#2

Try -6 and 3 

Sum: -6 + ………. = ……………

Product: -6 x …………. = …………….

-6 and 3 is / is not the answer.
Guess#3

Try -7 and …………

Sum: -7 + ………. = …………

Product: -7 x ………… = ………….



-7 and …… is / is not the answer.
Answer:  The two numbers that sum to -3 and have a product of -28 are ………. and  ………..
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The numbers 1, 2, 3, 4, and 5 are arranged in the grid so that every number appears exactly once in each row and column.  Fill in the missing numbers. Some numbers have been done for you.
Working: 

Applications and problem solving Total: ______ / 6
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